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3 _Tlme' 3 Hours .
e | InstructmnS' (1) Attempt all Questlons
| | (2) Assume sultable data 1f necessary
(3) F1 gure to the rlght mdlcates fullA Mark

(4) Start new Questlon on New Page L

Sectmn I

Que. -1 A solid round bar 3 m long and 50 mm in Diameter 12
- both ends hinged. Determine the crippling lo
e Que.—2 (a) List assumptions made in the Euler’s ¢ nt 6

(b) Explain stress-strain diagram wit 5

Que. -2 The tensile stresses at a point across | tually perpendicular planes - 11
are 120 N/mm?* and 60 N nine the normal, tangential and
resultant stresses on a pldpe incline 0° to the axis of minor stresses.

Que. -3 Explain theory of si 12

Que.—4 A solid circular shaft transtits 50 kW power at 100 r.p.m. Calculate the shaft 12
diameter, if the t tis not to exceed 1° in 1 meters length of shaft,
and shear stress 50 N/mm Take C=1 * 10° N/mm*

OR
Que. - id ci haft transmits 50 kW power at 100 r.p.m. Calculate the 6
: < neut@ axis and neutral layer 6
Que. -5 jeints of I section has the dimensions 100*100*20. This beam of | li

OR
‘ind the moment of inertia of T section having 120%*120%*20 mm. 6
Differentiate tensile and shear stress with neat sketch. 3

angular beam 200 mm deep and 300 mm wide is simply supported overa 12
of 8 m. What uniformly distributed load per meter the beam may carry, if
the bending stress is not to exceed 120 N/mm* S
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